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@[1] (a) Explain briefly the meaning of Machine Readability of a PL.
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(b) Explain the meaning of data abstraction in Human Readability of a PL.
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While the major advantage of the interpreter is

(d) The 4 paradigms of programming languages are:

1 Fnperachive Cprowund ) Pavadigm-
f),‘ Rﬂc}ﬁmc& 2

“3

9. LG‘%\&& "
Y. O'?)%Q @mwu ’,



- @[Z] (a) Given the following function in CLISP

> (defun func (n m)
(if (=m 1) n :
(+ (funcn (-m 1)) n)))

Trace the function call (func 3 5). What do you think fune do?
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(b) Given the following function in C language:

int doit (intm, intn)
{ if(n==0)
return m;
else ,
\© return doit (n, m % n);

}

Rewrite this function in CLISP. What do you think the function do?
>(ququ\ doit (rm )
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- [3] The production rules for the exp structure in LISP given in the BNF format looks like:
@ exp—> ( list ) | n
list—> list , exp | exp

Where:  Vn={exp, list} ; Vr={(5),ss0}
(a) Rewrite the above production rules in EBNF.

Lisk—= List , exp—> List , xp

—> @p , exp P «P

i QXP;-V ¢ Lisk B\n
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(b) Express the EBNF production rules using syntax diagrams.
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_ (c) Draw the derivation tree for the sentence ( (n, n), n, n)
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. [4] (a) What is the language recognized by the following FSA:

(i)

(b) Given the following DFSA. Reduce it to minimum states.
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[5] (a) Given the grammar:

E->T-E | T
T>(@E) | a

What is the problem with this grammar? Explain your answer in full.
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(b) The grammar for the if...else... structure can be written as:
S—iCSE | a
E—>eS | A
C—c
Vx={S,C,E} , Vi={iace}

@ Derive the sentence icicaea. Show that the above grammar is ambiguous.
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